Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and

Commerce Department, Haryana)
Afternoon Session

Q1. In 1931, the British government hanged Sukhdev, Rajguru and

A. Alluri Sitarama Raju B. Ram Prasad Bismil
C. V. D. Savarkar D. Bhagat Singh

Q1. 1931 #, R W&R & g@ed, Terw 3k FY B I qeHMT ATl
A. ool TARTH s B. I gae fafeaer

C. dr.3Y. A D. #ra g

Q2. won the 2017 T20 Blind cricket World cup.

A. Pakistan B. England

C. India D. South Africa

Q2. 2017 T20 sa1ss fFde aes H9 & S

A. TifeedreT B. SIcls

C. 8Rd D. &faror 3mhrehr

Q3. is the summer capital of Jammu and Kashmir.

A. Aknoor B. Jammu

C. Baramula D. Srinagar

Q3. S+ 3R FeAR i Afrsareller TereE 8

A. 3G B. FH

C. IRTHer D. AR

Q4. Pradhan Mantri Jeevan Jyoti Bima Yojana provides life insurance cover to all citizens of

India between the age-group of

A. 18 to 70 B. 18 to 50

C. 18 to 60 D. 21 to 50

Q4. wure #ft Sfiaet sAfa Mo Aerar ___ ad Y 3mg & weft sy anriet it Shaer far geam v w3 21
A. 18970 B. 18 & 50

C. 18360 D. 21 ¥ 50
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and

Commerce Department, Haryana)

Afternoon Session

Q5. King Harshavardana adopted as his capital although Thanesar was the
established capital.

A. Taraori B. Hansi

C. Kurukshetra D. Kannauj

Q5. =T gAY A FY YA TTAUTAT TATAT ST YTAAT FTATRAT TTeT=AT 24|

A. dRIE B. grir

C. Foe D. Sesilel

Q6. Who won the First Battle of Tarain?

A. Mohammed Ghori B. Govind Tai

C. Prithviraj Chauhan D. Jayachandra
Q6. as Fr ygel asTs fFws Sfid?

A. RigFae Y B. aMfdg o

C. gdRrat digre D. Sigdg

Q7. Haryana state was carved out of Punjab on basis.
A. Religion B. Linguistic

C. Population D. Geography
Q7. #F YR W g1 & F gRImom W57 1 AATor fmar = o
A. gH B. ST

C. 3r&Tdr D. afaier

Q8. One can find the remains of the Indus valley civilization in
district.

A. Rakhigarhi B. Hansi

C. Narnaund D. Balsamand
Q8. RuR o & # Ry urdl g & IraAY A @ ¢
A. Irdrarér B. g

C. AR=Ae D. STer g

of the Hisar
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Commerce Department, Haryana)
Afternoon Session

Q9. The Ganda village of Haryana was recently in the news for

A. Name of the village changed B. Prime Minister’s visit
C. Archaeology excavations D. Recent floods

Q9. RO FT arieT 7T g A F HROT TR H 47|

A. 31T & ATH H Sead B. WeITeT FHAT I AT

C. RIccd Ters D. 3TS &1

Q10. The Herbal Nature Park at Chuharpur Reserved Forestisin _____ district.
A. Yamuna Nagar B. Gurugram

C. Bhiwani D. Sonipat

Q10. TTRW IRBT ad@ FTgad Aek arh ____ o & 31

A. IHAT 79 B. TearH

C. ffaret D. |rdad

Q11. One important activity that happens around Indira Gandhi Canal is

A. To increase fisheries B. To provide intra-country waterway
C. To prevent desertification of fertile areas D. To produce hydro power

Q11. SR el e F HHITH TF Ageaqur AfAfAf gl B

A. ACEY TTelsT &l §e1 & oI B. 3{aR-32T STelATIT Yaled el & faw

C. 3993 81T & AEEAIHIUT I Vel & ToIT D. ST faegd &I 3cUlee it & forw

Q12. Which festival is connected with snakes?

A. Gugga Naumi B. Nirjala Ekadashi
C. Teej D. Janmasthmi
Q12. Fle7 @ e |ial & | 3T gI;T §?

A. T i B. feisier wehreRl

C. et D. SeATSCHT
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Commerce Department, Haryana)
Afternoon Session

Q13. Which village has been renamed as Saraswati Nagar?

A. Zaria
C. Kaduna

Q13. ¥ T FT ATH TAIFA! AIR TE@T 14T &2

A. FfEr
C. e

Q14. What does HSIIDC stand for?

A. Haryana Standard Informatics & Infrastructure
Development Corporation Limited

C. Haryana State Industrial & Infrastructure
Development Corporation Limited

Q14. v=,vw. 38,3783 HY. T Q0 A1 F4T §?

A. RO T35 SHiFRFT US SHhIEcFoR SaeTIHT
PRI fafaes

C. gRamT e S3Rear Us SHhga=R saaudc
PR fafaes

Q15. Rajaram Shastri wrote
A. Rana nimantran

C. Guru Govind Singh

B. Mustafabad

D. Nimrana

B. HEI®IEG

S

D. A&

B. Haryana State Informatics & Infrastructure
Development Corporation Limited

D. Haryana Sports Information & Infrastructure
Development Corporation Limited

B. gRamom TeT swidfeT Us SwhRcaaR 3qadHc
HUREE AfAes

D. gRamom Tiéw SwiEere Us Shrca=k Saaudic
FHRARe fafAes

novel in Haryanvi language.

B. Jhadufiri
D. Yoddh Charit

Q15. TSR AT & gRIToTd sy &F 3u=arg forar
A. ToT TAHEF0T B. ggithl
C. 9% aMfawe &g D. gg aRd

Q16. Which amongst the following fair is celebrated in Ballabgarh district of Haryana?

A. Masani Fair

C. Suraj Kund Craft Mela

B. Baldev Chatth Fair
D. Devi Fair
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and

Commerce Department, Haryana)
Afternoon Session

Q16. ERAON F Teasre o # PAFAfA@a & T Fia a1 Ad F9rar &2

A. FEA Aell B. Seldd ©6 Hell

C. W;ﬁfﬂwﬁw D. &dT #alm

Q17. Several words in Haryanvi are similar to words in language.
A. German B. Finnish

C. Spanish D. French

Q17. eI & % 2reg $TTYT & QUSET & FHATT g1

A. STHS B. fsfarer

C. ®uferer D. %

Q18. Haryanvi men wear

ornament in legs.

A. Kadi B. Nath

C. Hansli D. Jhalra
Q18. gRaordt gow & A JTSYOT Y61 o

A. @31 B. ¥

C. ggell D. STeRT
Q19. is the main source of irrigation in Haryana.
A. Canals B. Well

C. Rainfall D. Dams
Q19. gfamn # R=r #1 A&7 A 2l

A. T8 B. F31

C. s D. sy

Q20. Damdama lake is situated in district.

A. Gurgaon B. Hisar

C. Rohtak D. Faridabad
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Commerce Department, Haryana)
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Q20. gHeAT e forer F Rua ¥
A. T[s3Tg B. RO
C. gds D. WIgEE

Q21. Where is Chaudhary Charan Singh University situated in Haryana?

A. Chandigarh B. Ambala
C. Karnal D. Hisar
Q21. =terdt =avvr R Reafagame™ sRamwn 7 F71 Rya 82

A. T8 B. 3rFaTel
C. FeATe D. fgar

Q22. Which amongst the following is also a wild life sanctuary?

A. Hathnikund Lake B. Brahma Sarovar

C. Bhindawas Lake D. Karnal Sarovar Lake
Q22. 3AH ¥ HieT T Farell ST HHIROT 2

A. gYiehs girel B. SEAT TIaX

C. fozmary sfe D. &ATe TS 3ol

Q23. Which amongst the following is also called Indira Gandhi Canal?

A. Rajiv Gandhi Nahar Yojana B. Gandhi Yojana

C. Sichayi Yojana D. Loharu Utthan Yojana
Q23. Arafafad & @ v Sfer aneht g st e ST 82

A. TS el S8 At B. el At

C. &S At D. Sg& 3T Jratall

Q24. What is the minimum age to be the Governor of the state?
A. 35 B. 40
C. 42 D. 32
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
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Q24. TT FT TSI daal & AT F7 § F4 et 3y gl =fge?

A. 35 B. 40
C. 42 D. 32

Q25. The literacy percentage in Haryana, as per 2011 census is:
A. 85% B. 75.55%

C. 74.45% D. 65.85%

Q25. 2011 FY STV F HTHR FRATOM & FraRar wfaera

A. 85% B. 75.55%

C. 74.45% D. 65.85%

Q26. What is the national average of sex ratio, as per census 2011?
A. 980 B. 950
C. 840 D. 940

Q26. AT 2011 F HTAR, Foler requrar F1 Ui taa freer 82
A. 980 B. 950
C. 840 D. 940

Q27. Which region is famous for the production of automobiles in Haryana?

A. Gurgaon-Daruhera B. Gurgaon-Manesar-Bawal
C. Gurgaon-Rewari-Alwar D. Gurgaon-Manesar-Rewari
Q27. i 41 &7, A EIET F 3cde &+ fov ufag §?

A. TTSITTa-EReeT B. [S9TIa-HIAT-STael

Q28. Which two types of crops are grown in Haryana?
A. Rabi and Zaid B. Kharif and Zaid
C. Rabi and Kharif D. Zaid and Rice

Page 7 of 29
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Q28. R # fFa YR T FHA 39S AT &2
A. & AR SIg
C. W& 3R @iw

Q29. What is INRMPRP in Haryana?

A. International Natural Reserve Management and
Poverty Reduction Project

C. International Natural Resource Management
and Poverty Reduction Project

Q29. =TT # g, vA. IR TA. H. .. FaT 82

A. SIS el Rold AAsie Us dradt Reerere
ot

C. gAY Aol RART Aot Us ract Rgarere
ot

Q30. Pick the odd one out:

Truck, Lorry, Bus, Auto
A. Truck
C. Bus

Q30. I FT IIA HI:
T, d, T4, 3T
A. TH

C.sw

Q31. Find the analogy.

bcaD : Dacb :: HgmF : ?
A. FmgE
C. FmgH

B. @lw 3R Jre

D. org 3R ereT

B. Integrated Natural Reserve Management and
Poverty Reduction Project

D. Integrated Natural Resource Management and
Poverty Reduction Project

o8]

. $0s Aot Rerd Hevorete U5 et Rewart sioee

O

. $ENIeS el REW Helotdie Us diaél Rseie isiee

@

. Lorry
D. Auto

od)

. EgmF
D. HgmF
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
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Q31. AT &I

bcaD : Dacb :: HgmF : ?

A. FmgE B. EgmF
C. FmgH D. HgmF
Q32. Find the missing number.

7, 26, ?, 124, 215

A. 78 B. 56

C. 63 D. 115
Q32. Fuftya H&AT AT FI

7, 26, ?, 124, 215

A. 78 B. 56

C. 63 D. 115

Q33. If RUMOUR is coded as SUNOVR. How will MILL be coded as?
A. NIML B. LIML
C. INLM D. INLL

Q33. 3¢ ts #iz #9T F RUMOUR # SUNOVR far@r Jimar § a MILL &t Fa1 for@n sirean?

A. NIML B. LIML
C. INLM D. INLL

Q34. Find the value of X in the following equation:
5X-7=8

Al
C.2 D. 4

Q34. Rrafaf@a gHiwIor # X FT1 A A
5X-7=8

Al
C.2 D. 4
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Afternoon Session

Q35. Consider two events, X and Y, in an experiment. If P(X) = 0.7, P(Y) = 0.3 and P(X N Y)
0.3 find P(Y|X)

A. 2/7 B. 1/7
C. 4/7 D. 3/7

Q35. T& FANT & & gearat, X 3 Y W Awr #11 I If P(X) = 0.7, P(Y) = 0.3 3R P(XNY)=0.38&
ar P(Y|X) &7 AT fAsrel|

A.2/7 B.1/7
C.4/7 D. 3/7
Q36. Express the following in percentage:

240 as percent of 800

A. 30% B. 20%
C. 25% D. 15%
Q36. RArafafaa # yfaera & saaa Hi:

240 #Y 800 ¥ wfaerd & w7 #

A. 30% B. 20%
C. 25% D. 15%

Q37. Jaidev buys a laptop for Rs.45000. He earns a profit of 9% when he sells it. What is
the selling price of the laptop?

A. Rs.49050 B. Rs.57543
C. Rs.64565 D. Rs.47890

Q37. S¥¢d 45000 T A TF A9eiq Wl &1 19 9% 58 S°dT § d« 38 9% T o1 gl §1 JA9eiv F1 JFwmy
Ao fraer 82

A. 49050 9 B. 57543 39

C. 64565 39 D. 47890 I9¥

Q38. Newton's Law of Motion states that 'Every action has an equal and
opposite reaction’.

A. First B. Second

C. Third D. Fourth
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Afternoon Session

Q38. 7 F A FFawth e 3 et o ¥ B aw B v w3k Rl wfafear @
'l

A. 9IH B. gfadra

C. qdrg D. Tqd

Q39. A substance that is present in lesser amount and is dissolved in another substance to
form a solution is called as

A. Solvent B. Reactant

C. Solute D. Product

Q39. tF YT St FH AT H HiSg gar ¢ AR qEt gerd F gaww v aier F Ao Far ¢ 3@ Tl
ST B

A. TTeras B. 31ff&R®

C. e D. 3cUrg

Q40. provides mechanical support and shape to a plant cell.
A. Nucleus B. Cytoplasm

C. Cell wall D. Plastid

Q40. TS UIeq FIRAFT 1 Jifdw FAST 3 3R Ie1a FI41 81

A. Hegh B. #If AT g

C. siferer fafea D. Ta¥ess

Q41. is the synonym of "DISTINCT".

A. Unclear B. Distance

C. Similar D. Clear

Q42. is the antonym of "AGGREGATED".

A. Combined B. Cultivated

C. Separated D. Gathered
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Afternoon Session

Q43. Identify the meaning of the idiom.

"Down to Earth.”
A. Being a farmer B. Being realistic and practical

C. Always connected with one's roots D. Making complex things look simple
Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

"The television are on."
A. Television is now switched on. B. Television are now on.

C. The television is on. D. The television has on.

Q45. Complete the sentence by choosing the correct form of the word given in brackets.

The train (reach) the destination on time the other day.
A. reached B. is reaching
C. will reach D. could be reaching

Q46. fAFT reg FT ITIQTHY 2reg TS |

I
A. @afir B. 31eq
C. 3§ D. &d

Q47. t@iféa e F1 fRAqdia (Aaer) 3ref qar=d |

HATTET & Rt T 9 W FT WA |
A. 3T B. qfoter

C. HeUTIET D. FeTqat
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Afternoon Session

Q48. ) ford FygTaY #1 3fa e FaEA|

A. RFR Far B. &g ITeld 3MGd U8 STl
C. Ga & D. & &Y STt

Q49. = fad ereq FT aga™=l = |

grelt

A. ¥t B. urcirt

C. arforar D. arferdt

Q50. Y fad eree T agawa sard|

feam

A. gt B. gfear

C. gérat D. gfear

Q51. Soil with liquidity index of less than 0 is classified as

A. Very soft B. Semi-Solid

C. Liquid D. Stiff

Q51. 0 § F FT aTeal YaHis arell AL F & w7 # Feffera R e 31
A. 9gd FIAA B. 3§ 3

C.od D. @R

Q52. Identify the type of pile that is used to protect water front structure from impact of
any floating objects or ships.

A. Batter B. Sheet
C. Dolphins D. Anchor
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Q52. I F YHR FI YgdTal w1 3TN el qeclt avq A7 STETor F Woa { uTell & WS & 37T qrek arer Y W@ &
fore fFam Srar B
A. deX B. ¢fic

C. Sidfthet D. @R

Q53. Rebhann's method is also referred as

A. Poncelet construction B. Mohr-Mascheroni construction
C. Rankine's theory D. Bell's equation

Q53. TsreT T RAfr #r 8ft gT SITaT B

A. drFere fToT B. HIgX-AMRIAT AT

C. foret &1 Ragra D. de &l HHIEIOT

Q54. The greek symbol T (tau) is used to denote

A. Normal stress B. Shear stress
C. Bearing stress D. Tensile stress
Q54. T weltw 7 (aT3) FT 3T™NT FY g & faw T smar §1
A. GTHT d1d B. 39&YUT d1d
C. 9§ dara D. degdr dslta

Q55. Which of the following hardness test method measures the permanent depth of
indentation produced by a force/load on an indenter?

A. Rockwell B. Brinell

C. Vickers D. Knoop

Q55. fFsT & ¥ FieT H FoRar Tharor AT v §8X W T/ AT GTRT 3cqee F3UT HT TURM TEE F AT §?
A. Tishdel B. foaer

C. o D. o™
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Q56. The property which enables metals to be drawn into wire is known as

A. Lustrous B. Sonorous

C. Malleability D. Ductility

Q56. 4T3t F Fw T F FROT 3o WHaHT AR AT ST Wl §; 39 0T H & A § ST AT B
A. T B. 3fefefreqot

C. 3Tardatieiadr D. orfremdst

Q57. One gigaelectron-volt is equal to electron-volts.
A. 106 B. 103

C. 10° D. 1012

Q57. TF AmEaTeiA-atee FAFeIA-alee & aIa] gdT 8

A. 106 B. 103

C. 10° D. 1012

Q58. What is the value of absolute electrical permittivity of free space?

A. 10 x 10° Nm2C2 B. 8.85 x 10712C2N-1m-2
C. 8.854 x 10-12 farad/meter D. 10 x 10-12 C2N-1m-2
Q58. FFd T T WA fagga srqafar F1 A1 frcer gar 82

A. 10 x 10° Nm2C-2 B. 8.85 x 10712C2N-1m-2
C. 8.854 x 10-12 $harg/#ex D. 10 x 10712 C2N"1m~2

Q59. What is the SI unit of conductivity?

A. ohm B. mho

C. mho/m? D. mhom-!
Q59. TTelhdT T TH.ITE. FHTE F4T §?

A. ohm B. mho

C. mho/m? D. mhom-!
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Q60. Identify the circuit that adds multiple analog voltage signals together.

A. Summer B. Averager

C. Differentiator D. Integrator

Q60. 37 fhe I gard FY A TF TTY HE TATATT ool QIaddl HI JASdT gl

A. GFX B. TaR

C. Bwifrex D. §R¥IX

Q61. A is a circuit that fixes either the positive or the negative peak excursions
of a signal to a defined value by shifting its DC value.

A. DC-to-DC convertor B. Differentiator

C. Integrator D. Clamper

Q61. TF , T T giFe § Y Al AT B TUHAEART w1 vh IRART AT aF vh RIad F
qifarfed a1 e i seror Y Sk T Bl

A. B.8.-Z-3.8. FAaE B. fEwifiuer

C. &I D. FelF R

Q62. The split ring arrangement is used in

A. D.C. generator B. A.C. generator
C. Transformer D. Choke coil
Q62. Rsnfara Rar syaeyr w1 39T & fraT SATaT 1

A. 3rE SR B. T.dI. SR

C. TEBIR D. e Higel

Q63. Which of the following port is used to transfer large amount of data at very fast
speed?

A. Firewire B. VGA
C. PS/2 D. USB
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Q63. agd dsr A { a2 AT F 3T A TR FA F fav FArafaf@a & @ By 9O w1 sgaer fhar s §?
A. BRRART B. dr.5f.w.

C. ur.uH./2 D. g.ug. .

Q64. Bluetooth is an example of

@

A. Local Area Network . Wide Area Network

C. Personal Area Network D. Virtual Private Network
Q64.5Ed I UF 3GTET &

A. el TRAT Aeas B. args TRaAT Acas

C. w¥eTer TR e D. a3 WTsdT eak

Q65. In C programming, what is #include in the declaration, #include?

A. Assignment operator B. Library function

C. Header file D. Preprocessor directive
Q65. &Y (C) WanfAr &, alwom #include # #include a1 §?

A. 3 TSHT TR B. STSsY HerereT

C. g B D. MYRR sRRkfeed

Q66. Which of the following logical operator in SQL is used to combine multiple conditions
in an SQL statement's WHERE clause?

A. OR B. ANY
C. LIKE D. EXISTS
Q66. TH.FY,.UA.(SQL) # fAFT # ¥ frw Aiforarer O FT 39491, TH.FY, 0. (SQL) FeHe & WHERE Fatsr
# it odf F FAfoT = & v T san 82

A. OR B. ANY

C. LIKE D. EXISTS
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Q67. Which curve represents the relationship between the price of a product and quantity
demanded for a specific period of time?

A. Demand curve B. Product curve

C. Service curve D. Goods curve

Q67. Fi AT 9F s 341G T FIAT 3R v fAfRrse 3af®r F forw aAfer A a1 #Aen F S F daer F weShia a2
A. HIET s B. 3cUIG d%

C. 9ar s D. a&] I

Q68. In which type of market, a businessman sells a unique product in the market without
facing any threats from his competitors?

A. Oligopoly B. Dipody
C. Monopoly D. Multipoly

Q68. ¥ Y&R & a9 #, Ta saqard 3ua gfaeaftat & frdt ot way &1 wren e e aeR & v sreger
39S AT 87

A. FedTEaR B. 38UIET

C. UshIEshR D. Sg3ITaR

Q69. Producer surplus + surplus = Total economic surplus in an individual
market.

A. Manufacturer B. Consumer

C. Monetary D. Demand

Q69. fA#Tar ey + FAY = v SFAT TR F FoI IEF rferey

A. &t B. 39serdr

C. #ifgw D. HfT
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Q70. What will be the term in the empty box on the 'Y' axis of this graph?

Demand

Quantity
A. Period B. Price
C. Competitors D. Revenue

Q70. 38 ITF F "Y' 3787 T WTell aiFd A HiT AT Ueq ghom?

Demand
Quantity
A. 3afer B. qou
C. gfaanst D. TEd
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Q71. The increase in the cost of living due to rise in the price of goods and services is called

A. Deflation B. Inflation

C. Devaluation D. Depreciation

Q71. a¥g3it 3R arst A Frwa # IR & FROT Wr-HeeT T AW A i areh Iy F FT AT ¢
A. JaERIfT B. Harehifa

C. a#eTd D. HeIer

Q72. Goods and services that are used by the consumers directly are called

A. Consumption goods B. Capital goods

C. Principal goods D. Necessary goods

Q72. Y IusiFA3T g@RT 3TN A ST arelt FEGHT AN JawAt FgT STl 8
A. 3THIT TEIT B. oMot FwqE

C. gee IEU D. 3T a&dU

Q73. Which term signifies a substantial reduction in the economic activity of a country, such
as employment and trade, lasting for some months?

A. Recession B. Declination
C. Depreciation D. Resurgence

Q73. i &1 2reg T or F¥ 3T+ wfafafy F gaiea w4 F71 9hF 2, ¥ B AR 3R AR, Fo A T
TAAT?

A. HeY B. 3fasIta
C. Heaerd D. GeT&cdTel
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Q74. In the given business cycle graph, what does the uphill of the graph indicates?

Equilibrium

5 Years 1=
A. Expanding Employment opportunity B. Shrinking business opportunity
C. Depreciation of long-term assets D. Period in which an asset is expected to be used
Q74. 2T 3T Aawi¥A+ a% TF &, ME & Huee FAT gfdr 82

A. ASER & IFTE FHT AEAR B. s &I caaaridsh faer
C. drepfaes aREufcadt 1 feas D. for& 3rafer & ver aREufce 1 3u2T gl &t 37lie &
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Q75. is an electronic fund transfer system that operates on a Deferred Net
Settlement (DNS) basis which settles transactions in batches.

A. RTGS B.TT

C. IMPS D. NEFT

Q75. & FAFeliad Bhs TAHT RATeH § St v BwS A deade (.01, ) 3R W Faifad gar g s
Y 7 SeTeeT FT1 AU FIAT &1

A. 3RS T, B. <I.eL.

C. 8. uA. 914, D. UA.5.U%.3T.

Q76. What is the minimum amount that can be remitted through RTGS?
A. Rs. 1.00 Lakh B. Rs. 5.00 Lakhs
C. Rs. 2.00 Lakhs D. Rs. 0.50 Lakhs

Q76. IR.A..0H. F ATCTH T FH T HH Fhde) TR AT 3T Fhar &2

A. 1.00 a9 9 B. 5.00 g &9

C. 2.00 1@ 9% D. 0.50 &g 393

Q77. India's Foreign exchange reserves have touched an all-time high of billion on
2nd June 2017.

A.3321.256 B. 5275.327

C.5381.167 D. 301.586

Q77. 2 57 2017 & #RA & fadeft Fqgm sizm A R & 39 9% & Fa@ 59 T F Fad R @
A.3321.256 B. 5275.327

C.5381.167 D. 3301.586

Q78. Balance of payments means:

A. The balance of receipts and payments of all B. The balance of government receipts and
banks payments

C. The balance of receipts and payments of State D. Payments of foreign exchange by a country
Bank

Page 22 of 29



Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Afternoon Session

Q78. AT FT AV FT AT ¢:
A. et dant Y iferat 3R eqararat & Ay
C. e d i wiitaat 3R sgararaii & Av

Q79. Lorenz Curve shows
A. Economic growth

C. Production possibility
Q79. Al a% ¥
A. 3w faer

T qdT TdT 81

C. 3cUTeeT HTAT

Q80. OECD is the short form of

A. Organisation for Economic Co-operation and
Development

C. Organisation for Economic Cooperative
Developers

Q80. 3t.&.#.4. =T WiEeT &9
A. 3T GgaeT vd A TaraeT
C. 3 gl Reras gaea

Q81. What is brain drain?

A. The immigration of highly skilled people from
developing countries.

C. The immigration of labour force from
developing countries.

Q81. 3 3T FAT§?

A. Taenrerefiier el & 37cgfereh Herer Wl ot oReer &
ST =TT

C. Tamrasiier ol & FASTGI T WG H SATH FHeAT|

B. TIHR T it 3R sperarat & A

O

. Fordir ger 2anT faeRl #er s sarcret

@

. Income inequalities

O

. Literacy Rate

D. AR dr e

B. Organisation for Economic Cooperative
Development

D. Organisation for Economic Countries
Development

B. 3% TR e Gato
D. 3T &2 Aery HaroaT

B. The immigration of highly skilled people from
developed countries.

D. The immigration of rich people from developed
countries.

B. Taehf@d el & 3rcafereh Herer @il o1 oReer & S
G

D. RAfaa o & 37 el T IR H FATRT Sg=TI
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Q82. Which of the following is not a subdivision that forms the subject matter of public
finance?

A. Federal finance B. Financial administration
C. Public debt D. Foreign trade policy
Q82. far # ¥ i, wrdafarr Rca A Rrwy avq F1 AT F3 arar 39-Remere ¢t 82
A. FEIT faed B. faecia gemest

C. gaaifeish HoT D. faceft samar i

Q83. Which of the following is NOT considered to be an objective of public finance?
A. Efficient resource allocation B. Income distribution

C. Macroeconomic stabilization D. Enforcing employment standards

Q83. Arfaf@d # ¥ fFd Fdafe® fAca FT UF 3227 A1 AT ST 82

A. FRIST THTY 3TTde B. 31 faaxor

C. =ame e fEdraor D. VST HTeTehl T SITa] el

Q84. What do you mean by Government investment?

A. Government purchases of goods and services B. Government expenditures that are not
for current use. purchases of goods and services, and instead just
represent transfers of money.

C. Government purchases of goods and services D. Government expenditures where income is
intended to create future benefits. transferred to people that have suffered a loss
due to natural disaster.

Q84. THRT A |/ 3T F4T FASAA 82
A. IAATH 3TANT & TIT a&3it 3R Far3it i awhry B. TR &3 ST a&I3il 3N Farsit i Tl & fow

ECRICARL| T afed A aaT & geaiarer F v fFe sra §1

C. #TIsT & o187 HATA o U T FEI3AT 3 Jaait D. TN T g7 3T T ol &l gEIidRd & f&ar
TN TIERT| ST & fSied ITehfcieh 3MT9eT & HROT bl g37 &
Q85. is regarded as the father of Operation Flood.

A. Raghuram Rajan B. Verghese Kurien

C. Kaushik Basu D. Bimal Jalan
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Q85. Y ATIAT FAS FT STeTeh AT AT ¢l

A. TERTH IrSTe B. geiter HRz=

C. iR 5g D. fo#Her Straret
Q86.____ is not replaced by Goods and Services Tax.

A. Sales Tax B. Customs Duty
C. VAT D. Property Tax
Q86. &I AT 3R a1 F g@anr wfaeafa a¢t R arar g

A. Tt & B. AT Yok

C. 3¢ (VAT) D. dufed aX
Q87.__ industry in India has maximum number of women workers.
A. Steel B. Textile

C. Tea D. Rubber

Q87. siRa & 3ear # s wear A Afyer safaw §

A. T B. a&

C. @ D.

Q88. What is the full form of NITI Aayog?

o8]

A. National Institution for Transforming India . National Initiative for Technological India

O

C. National Institute for Transform India

Q88. 'NITI' (fifd) 3mer &7 g w7 &4T §2

A. IS AR IRadeT FE2am B. TSET HRA dehellehl & folT Ugel
C. USET AR A TEUTT D. IS $TR dheildhT FTRIETT & forT uger

Q89. Which sector is the largest source of employment in India?
A. Agriculture B. Textile

C. Services D. Tourism

. National Initiative for Technical training in India
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Q89. Fie 4T 817, HRT H VSR FT & g7 AT §?

A. Y B. a&F

C. §ar D. 93

Q90. is the largest source of employment of expat Indians.
A. Middle East B. USA

C. UK D. Malaysia

Q90. yarHY SR & VSR T JaH 937 WA B

A. AT I B. 3. wH.T

C.g& D. HafaT

Q91. What is M-SIPS announced by Union Government of India?

A. Modified Special Insurance Planning Scheme B. Modified Special Incentive Package Scheme
C. Modified Systematic Investment Planning D. Modified Systematic Insurance Package
Scheme Scheme

Q91. HRT &N GaANT TH.-TH. IS, f.ud. i ayom 7 §?
A. FNRAT AT AT DT Ireter B. T Y WicarssT St Jietelr
C. g yomelieg Haer Ast=r D. et caafeya AT Yehet distar

Q92. Chandha Kochar, the 4th in Fortune's 50 Most powerful Women in the World-2013 is
the MD and CEO of

A. Tractors and Farm Equipment Limited B. ICICI Bank

C. Life Insurance Corporation of India D. Capgemini

Q92. wicda #t g #1 50 wad ufFaemeh Afyenat # 2013 F Tt 7 =TT FATT wIed F ATl TaT PR,
# T s dga 8

A. ¢Fcq Us wiH siFause ffes B. 31s. &3S, ®).37mS. 9%
C. ¥R shaar e [ D. $uyafasr
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Q93. On which company did Insurance regulator IRDA impose Rs.40 lakh penalty for
violation of various guidelines related to advertisement, outsourcing and other norms in the
year 2016?

A. Life Insurance Corporation of India B. Bajaj Allianz General Insurance

C. Royal Sundaram General Insurance Co. Limited D. HDFC ERGO General Insurance Company

Q93. a¥ 2016 # fa=y, eI 3R 37 AgAT ¥ waftT [T RFaAdent & seaua F v &7 F=aHE
IME.IRAT, F fFy F9ll I 40 AT FT FHTAT AT T2

A. IR Shraet e @ B. Soirol Tfarist STelkel 3INT
C. U FeIH Sfellel $2TRH e fffAes D. To.3.Th.HY. §.31R.5.31. STeel $3aRH F=ir

Q94. Aim of the New India Manthan programme is to

A. Double the farmer's income by 2022 B. Ensure availability of 24-hour three phase
quality power supply to farmers

C. Provide highly subsidised food to millions of the D. Establish infrastructure that could ensure

poorest families adequate robust sewage networks and water
supply for urban transformation

Q94. =g 3 HYUT FHFHA FT 3T 2l

A. 2022 T haTeT & 3T I ST AT B. fharet &l 24 ©¢ dieT thal aTell 37T FATTeler Sl Jrax
TS T ST T FiATREdT e

C. or@l I IRART I 3fcaftew AieHs! arell #Hslel Jael  D. JiAATEr e I AT el ST A FATAOT & forw

LT e HSTIT Heloldl sicde R arely dr 3mafed s
AT X Th

Q95. Who is the current Minister of Commerce and Industry?

A. Anand Sharma B. Anupriya Patel
C. Piyush Goyal D. Suresh Prabhu
Q5. adHTT aftrew Ta T Folt Fher §2

A. 3Teie erHAT B. 30 v

C. 9y It D. gRer 98]
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Q96. Which one of the following governs International trade?
A. World Custom Organization B. International Trade Centre

C. International Monetary Fund D. World Trade Organization

Q96. AFafaf@d & ¥ i, HRTHT AR F AT FaT 82

A. f32T FEeH FIraT B. 3RTSET U9 Fg
C. HRTSET Her Iy D. 399 MR et
Q97. India is the second largest in after China.

A. Fish production B. Tea export

C. Shrimp export D. Gold import
Q97. sRa # AT & 915 qET gIW 37 AU B

A. AT FT ScdTesT B. T & fadia

C. sfiom &1 AT D. His &7 3mard

Q98. Which one of these are sources of revenue for State Government?

A. Custom duties B. Foreign currency exchange
C. Service tax D. Land revenue

Q98. 3aH ¥ Fid, T WFHR & ST FT AT T 82

A. T Yo B. fagelt ger fafasa

C. Far &Y D. & I Ed

Q99. Which one of these banks does not fall under the category of money market?

A. Reserve Bank of India B. State Bank of India
C. Security Exchange Board of India D. Corporation Bank
Q99. 37 ¥ FIeT AT i, FaT Ao Y Aof F et 3mar &2

A. AR Rerd B. #RAT R I

C. RfFaRE vaads 918 31w gfsar D. AR I
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Q100. When there is a fall in the currency value of a country in comparison with currencies
of other countries, the currency is said to be

A. Demonetized B. Devalued

C. Depreciated D. Deducted

Q100. 5 3+ eit F¥ FeT3it At Forewm 7 el Aor F 7T Aew A Py e @, A sw AT A FaT
ST B

A. faageRtor B. 3a#qede

C. #eTe ™ D. &eldr
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